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1. BREEH

ROTABE RIS RBEM KR I RFEHEREINE
B.EEERE, LEREESIGE XN HHE R ‘=8B
S, BB 84 (the topic sentence) JF %, 45 B 4] (the
concluding sentence LB 1 F1 % 2 LUK R LA B0, 10

5] 1 English is favored on the following grounds. It is the offic-
ial language of a number of countries. Of other countries, it is
their second language. In still others, Enlish is spoken as their
major foreign language. That is why English is so popular in our
present world.

X—Bdt 5 ANEFL BN EBAH 2—4 G AFHE
f5] (supporting sentences), BEFLEH 1 M NE B 5 A G
BAMNB—TAEEL TH 1 MRk, X—BEHaE
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EE R MH SRR . .
5] 2 Bettiec Van Meter had good reason to hate the Civil War.
One of her brothers was killed at Gettysburg, another taken pri-
soner. Then her voung husband James, a Confederate officer,
was captured and sent to an unknown prison camp somewhere.
(FlB(RF £EIH ) F =M P. 20)

X—B3E 3 A8 1 B REMAL S 2.3 A RIE
CIRCE R

FHE AR EETEAHERE. W
@ 3 It is fairly well known that wild animals survive from year
to year by eating as much as they can during times of plenty, the
summer and fall, storing the excess,usually in the form of fat,
and then using these reserves of fat to survive during the hard
times in winter when food is scarce. But, it is less well known that
even with their stored fat, wild animals spend less energy to live in
winter than in summer.

(3l ACRF RIEYGHE ) F @At P. 20)

X f& P /> X {8 (antithesis) &) , R — M AR EE . H
B RMERXHAE REL, 1H £/, Bl The ways wild animals
survive vary from season to season.

HRBUA X PR 78 i LA B R B U K B ik
kT, .
1 4 (DI have left out, however, the most important reasons
why I teach.

(2)One is Vicky. -+
(3) Another reason is George, who---

« 9.
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(4)There is Jeanne, who«--
(5)There is Jacqui, a cleaning woman who-«-+
(6)These are real reasons 1 teach, these people«-
(ALK E B £ ZH P40
XE-NKREGH 6 ANERABRMR. 1 HMERERE
TEEBE—THRBNS—AEEE 78, PR A TH
REBERAMRMET. XHKRBEHEHATERME .
A 2. '

—BX 3 (the thesis statement)—————]
2
3
KB ——%f £ Bt (supporting paragraphs)
4
—5
L4+ |2 (the conclusion)——— 6

X— KBRS, BERE—-TE. HER—B.WHH—
RIEMES—BZ ..

1 5 (1)This acceleration is frequently dramatized by a brief ac-

count of the progress in transportation. It has been pointed out.

for example, that in 6000 BC the fastest transportation available
to man---

(2)So impressive was this invention, so difficult was it to
exceed this speed limit that---

(3) 1t took only fifty-eight years. however., to go four

times that fast, so---
(4) Whether we examine distances traveled. altitudes

.3



reached, or minerals mined, the same accelerative trend is
obvious. The pattern, here and in---
(B X RAKRF REVEFH) F =M P 172—-173)
EIAKREH 4 MERBMR, HTE 1 BREG R B
RE—1HFUEES | B2 (REREH D).
WRBENAFILERGH SRR FZRIBAE TE
BRI 2R
& 3.

——3| = (the introduction)

IR L——F——1F X (the body)

——£ B2 (the conclusion)

HATERER AERE, 0 SHCRFRBIOEDE =M
BRI EEROr SN IR X B TR
RABSE(RF BT RO R BEANE S HET UL
GER, /T LA VE R A R A DR A A, W] AR 43 A A
MEGHITERE S E CHEE.

REFFFEL. —RABREI00RELEL, NE RE
WARE . EEEL2—4PERBHT T EHFEZET. £
FEREMMNBAR BT Z REEEELKEE -1 K
B.MRAGNA TR0 BEAES AT L10—15 A
BETRBER. 7HEISENCEBRED, B8 35 AT
T RN RFEFBE W — R TER K

et o O T SR 20 S - A e -y



A 4.

r&@fa@@&ﬁm
FesE —%ﬂ%ﬁﬁ*t' 2
y L 3
L5 )

I ROET E N U SR
ORFHEBEFEXAKESE.ZHIITER
B 6 B 35 . B 6 10 i

.

Exercises

1. Analyse the paragraph below, telling,; (1) which is the
topic sentence? (2)which ate supporting sentences? and
(3)which is the concluding sentence?

The three sisters favor three different subjects. One of them
likes maths better than anything else. Another is fond of medicine
and hopes that soifieday she wili become a surgeon. The one loves
people more than things and is now wotking hard at Chinese lite-
rature. Their choices show that their interests differ from one
another's.

Special work ;
1)In what way the concluding sentence restates the topic?
2)Which particular word in the topic sentence do the supporting
sentences support?
2. Analyse the paragraph below and draw a diagram to show

« 5.
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its structure.

Diligence in a sense means success. If you are an average
student, or in other words, if you are not intelligent enough, you
can succeed by working hard. Hard-working, for one thing, can
make up for the insufficient intelligence. For another, it can help
your intelligence develop. So a hard-working person with average
intelligence can get the upper hand over a highly intelligent but
fazy man. '

Special work ;

Can you add a sentence to the paragraph?

3. Analyse the paragraph below and draw a diagram to show

its structure.

Mr. Zhang is a man of few words, especially in face of
strangers. Mrs. Zhang, on the contrary, is a talkative woman
who can make acquaintance with a stranger in a few minutes.
Special work ;

Can you supply topic sentence?

4. Organize the following sentences into a paragraph, and
put in some conjunctives such as the ”first, second, *:-,
finally” series.

Zhang Hua, on the other hand, hits on the idea that they

should go to the seaside and spend the holidays there.

Li Ming and Zhang Hua ate in the classroom, talking about
how to spend the coming summer vacation.

Li Ming suggests staying in the university and preparing
themselves for the next English Band 4 Test.

6o



He tries to persuade Li Ming to give up by saying that
summer vacation is the time for relaxation.
Zhang Hua doesn’t want to give up the good chance to have a

good time on the beach.

5. The following can serve as the topic sentence. Try to
write a restatement to be used as the concluding sentence
and then supply three to five supporting sentences.

1)The topic sentence,

Modern industry much depends on modern technology.

2)The restatement,

3)Supporting sentences ;

a.

6. Analyse the following paragraph complex, underline the
thesis statement and the concluding sentence, and then
draw a diagram to show the structure of the paragraph

complex.
e 7 e
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A Good Lesson

In my first test, 1 succeeded by ticking all A’s. For before the
test I didn’t work hard enough. On seeing the test paper, 1 was at
a loss which of the four choices I should tick. Suddenly I hit on
the idea that I should try my luck by ticking all A%s. And it so
hap-pened that most of the correct answers to the questions were
A’. 1 turned out to be successful.

When the second test came. I ticked all A’s again but failed.
The teason is that the correct answers were evenly distributed. As
a result, I got only 25 percent right, and, of course, I failed in
the test. The failure forced me to think over the matter a lot.

From the two tests, I concluded that trying one’s luck is not a
safe way to sucCess. it is just like gambling for one success will
lead t5 two failures. Learning is a scientific process, so we should
be honest and work hard in a scientific way.

7. Try to find a paragraph complex in COLLEGE ENGLISH

(intensive reading), Book 1—4, analyse its structure
and copy the thesis statement and the concluding sentence
(or paragraph) below.

1)The paragraph complex is found in Bood P (p).
2)The thesis statement ;
3)The concluding sentence (or paragraph) .

8. Try to supply the missing parts to the following.

An Unforgettable Visit

e ¢ e R A v 48 SR - <1 1 AT S i ST T



As soon as the summer vacation began, 1 made an appoint-

ment to meet Zhang Yun, one of my best friends. [ told her

through the phone that I would like to see her later at
about o’clock , but I made a terrible mistake for I didn’
tell her I would like to meet her.

That day, I reached her door to find that she was on her way
to my house. For she thought that I would like her to meet me at
. On the contrary, what I was that 1 was

going to
On my way back home, I realized that I should have told her
that it was where | would like to see her, but instead I
only told her that at home that would mean "my” home

for the subject

2. FEE5HILBED

= 55 /4] (the topic sentence) , i 45 & 5, & F # v 8 FHRY
ES
{5 6 A picnic serve to refresh both your body and mind after a
period of hard working. It works like refueling that provides e-
nergy now and then for the ever running machine. If it does not.
the machine will be tired out and may break down. The same is
true with the working man. If he keeps on working for a long per-
iod without a good relaxation, the man will be too tired to go on
working. The picnic is a form of relaxation that will enable you to

forget your work and enjoy yourself for a moment. Then you will

e 9.



feel refreshed and energetic again.

LB FIGREEM ENMERE—BMTFL FEE
PRENIL-BWEFET T EA. KRS UHEHESE X
S EB AR

ERMME XA BREMEEE T M RBEGE ELHE
i to refresh LMY EHl 2y 7 XA H RB# KB J M. E
BEXNME X B RITHX KHESRAEB FRAH Y EE
(the controling idea) ,

EFAMEH Y BE - REFZHXNEMR . Bt 253
EBE s NEX LB E- A 2 B — Bk R
i8] F A BOR 4 R ) E R — R
Bl 7 (1) The last test is perhaps the decisive. (2)If a student has
been successful, the last success will ensure the overall success.
(3)If on the other hand he should fail, the student would get into
trouble even though he has been successful. (4)If a student has
lost one or two tests, the last success will make for the loss. (51t
is in this sene that the last test will affect a student’s overaii suc-
cess.

LB VARG B RERAD 2.3 4=HHR
AR FH %% why do we say the Jast test is perhaps the decisive X~
R RE#  igd B X A 10 8 AT R LA A R A o7 2R E A AR
L.

@l 8 We say that the last test is perhaps the decisive because if a
student has been successful, the last success will ensure the overall
success; because if on the other hand he should fail, he would get
into trouble even though he has been successful; because if a

« 10 -
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student has lost one or two tests,the last success will make up for
the loss.

HERTLZ:

] 9 We say that the last test is perhaps decisive

our first reason is that if+--

our second reason is that if---

our last reason is that if---

XIS ULE, B2 3 4= A= EETEMIE T £8
HLRET FEAFELBNART . EREXITEX L H2,
3AZAA BRI 4. ENHIET ZEAI T EN A
BREREIEEHEMN ENREMFLT the decisive :X 4

HEEIFEETH:
& 5.
the decisive
| | |
ensiiring the getting into making up
overall trouble if for the loss
success otherwise

MENG - AEE NSHFTHIGZRNMTETS
B, 814 K I the decisive ;X MAEMRE T HITH ERNE
YRR RS 2 RIS LR R H TR BRI 4
13 the last test is perhaps the decisive . I RE HEL B A ZE —
A AR PR 3 FR AT 1S L the decisive B E 2 J5 . /5 AT IE
BROREZFCHMRH  EREXNE L RATHX KRR R
R GEE R AR B8 TEHE—F.
f5]10 He is a diligent student. In the morning he gets up as early

e 11~



